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18 -3=18+18+18= O

18 - 3=(9+5+4) - 3=9-3+5-3+4-
0

18 :3=(9+9) -3=9 - 3+9 * 3=

18 - 3=(10+8) - 3=10 - 3+8 - 3=



BE1BOA:

YTOObl YMHOXUTDL
ABY3Ha4YHOE YUCJII0 Ha
OOHO3HAa4yHoOe , HYXKHO
npencTtaBUTb YUCIO B BUge
CYMMbI pa3psagHbIX
crlaraemMsbliXx, a 3aTeM HanuTu
3Ha4YeHue Nnosiy4YeHHbIX
BbIpaXXeHUN., UCNosib3yA
pacrnpegenuTenbHbIN 3aKOH



PUH3INMHHYTKA




((JIueAHHB1H
VAEH)).
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Ha kaxxgoe n3 Tpex oKkoH
AEeTU NOCTaBUIIN 7 0EeroHnmn n
Schmnanok.CKosrnbKo LiBETOB
BCEro yKpawarT OKHa
Knacca-



SAKOHYH
IIPEANO2KEHHUE



AONMAIIIHEE
SAAAHHUE

Ctp. 73 Ne 3, Nee.

Ctp. 73 Ne4 Nes,

Ctp. 73Ne s






